This Question Paper consists 30 questions of New Syllabus and 30 questions of Old Syllabus [Section-A (20)
+ Section-B (5 + 5)] and 24 printed pages.
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General Instructions :

1 Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions
are in sequential order.

3 Making any identification mark in the answer-book or writing roll number anywhere other than the specified

places will lead to disqualification of the candidate.

Write your Question Paper Code No. 52/ASS/4, Set—[A] on the answer-book.

(@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any
one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in the
answer-book.

(b)  Ifyou choose to write the answer in the language other than Hindi and English, the responsibility for
any errors/mistakes in understanding the question will be yours only.
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) ( IMPORTANT INSTRUCTIONS } .

1.  This Question Paper Booklet contains two Question Papers - one based on revised
study material marked as “New Syllabus” and the other based on pre-revised study
material marked as “Old Syllabus”.

2.  New Syllabus is compulsory for those who have registered for 2015-16 (Block-I)
admission. (Those who are appearing in March-2016 under “New Syllabus™.)

3. Old Syllabus is compulsory for those who had registered before 2015-16
(Block-I) admission.

4.  Answer only one Question Paper from given two Question papers.

5.  Learners are not allowed to mix questions from the two given Question Papers.
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All questions are compulsory.
Marks allotted are indicated against each question.

Each question from question No. 1 to 10 has four alternatives (A), (B), (C)
and (D) out of which one is most appropriate. Choose the correct answer
among the four alternatives and write it in your answer book against the
Number of the question. No separate time is allotted for attempting multiple
choice questions.

Use log table if necessary.
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1 The atomic masses of C, Al, Fe and Ag are 12u, 27u, 56u and 108 u 1
respectively. Which of the following has maximum number of atoms ?

(A) 24gof C (B) 84 g of Fe

(C) 27g of Al (D) 108 g of Ag

C, Al, Fe 3R Ag & U] FHEM %A 12u, 27u, 56u X 108u ¥l
frfafed & 9 foad @ity oy & 7

(A) 24g C ¥ (B) 84g Fe ¥
(C) 27g Al ® (D) 108 g Ag ¥
2 Which one of the following statements is not correct with respect to molecular 1

formula of a substance ?
(A) It shows the number of atoms of different elements in one molecule.

(B) It shows the number of moles of atoms of different elements in one mole
of the molecules.

(C) It shows the ratio of moles of atoms in the compound.

(D) It is always an integral multiple of empirical formula.

frffas & @ @@ ®u Tad & oHE & wue Wl T & 7
(A) ws a9 ¥ fafr= q@t & wempetl @l d@emn qenan §

(B) ot % UH Aw H fafv= wxwmpell & Al @l e seiar
(C) T Affes ¥ wxpsll & Wl &1 Agu q9nal ol

(D) T FEIGARH A H PG o Eqq ¥

3 Bond order of 2.5 is shown by - 1
2.5 Y HfE T & -

2
4) 0 ®) 0,

_l’_ —
© o ©) o,
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4 The valence shell electron of sodium atom has the quantum numbers n, 1, m 1

and s respectively :

Hifsad TRy %GRl e B n, [ m 3R s w@ien @ wAs: ¥ o

1 1
A) 2, 1,-1, +3 B) 3,0,0, +7
2 2
C) 3,2 -2 —l D) 3, 2 0 —i—l
( ) > s T s 2 ( ) ) > 5 2
5 Which of the following is not correct for lyophobic sols ? 1

(A) They are irreversible sols

(B) They are formed by inorganic substances

(C) They are readily coagulated by addition of electrolytes
(D) They are self stabilized

gafeRrlt wwEel & fu Frefafeg & & #9-w @& 78 ¥ ¢
(A) A egermig faeg ¥

(B) I IFHEME UIA ¥ T L)

(C) A fga owoea & fam @ fw =i & w1 ¥

(D) ¥ w=F Wi 8 ¥

6 When the temperature is increased, surface tension of water - 1
(A) increases (B) decreases
(C) remains constant (D) shows irregular behaviour

99 A9 Fe™T W@l % Al Ul H g add —
(A) & @ B) T ¥
(C) Rex =l % (D) fEfta =eer g9 #
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7 Metal ions like 4gT Cu?T APT etc. act as - 1

(A) Bronsted acids (B) Bronsted bases
(C) Lewis acids (D) Lewis bases
AgT. CuPt, APT SR ufEs e ¥ -
(A) TS = (B) TES &R
(C) =8 &= D) TqEH ar
8 The strongest conjugate base is - 1
TaEaH g A ¥ -
(A) CH;CO00~ (B) NO3
© cr- D) s0;~
9 Which of the following has planar structure ? 1
frrefafaa o & forgenl wwaal @xemT & 7
(A) XeOs (B) XeOFj
(C) XeF6 (D) XeF4

10 Which one of the following reactions depicts the oxidising behaviour of SO, ? 1

frfRag & @ s afulear SO, @1 STTeR® =EER q9ndl § 7
(A) Ca(OH ), + S0, —CaSO5 + H,0

(B) KyCry07 + Hy804 +3 SOy — K804 +Cry (SO4 )5 +H,0

(C) 2H,S + SO, — 2H,0 + 38

(D) PbO, + SO, — PbSO,
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11 With the help of a suitable example explain the law of constant proportion. 2

Sfad SEEw W WAl ¥ Rex oUW % Fraw @ @men s

12 The green light has a wave length of 535 nm. Calculate the energy of a 2

photon of green light. [h =6.626 x 107* Js

B GHIYT BT T 535 nm ¥ B YR & U WIS @l Holl GIehied DIt |

h—6.626x 103 Js}

13  Define the following : 2
(1) Macromolecular colloids

(i) Associated colloids.
frrefafaa @ ahafa sifg
() FEE wzs

(i) wafed wdiEs|

14 Define enthalpy of neutralisation and give one example. 2

TGO THE &l G Hife 8k Teh SErsvl ainNiy|

15 (1) Write the formula of the following complex : 2

Potassium trioxalatochromate (II1)

(i) Write TUPAC name of the following complex [C0<6n>2 Clz}Cl :

() Tl dga & g3 foRay -
R gEeeswee (11D)
(i) Pt dpw & sy Aod. @ il :

(Co(en), Ch|cCI.
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16

17

18

(i)

(ii)
(i)

(ii)

Identify A and B in the following sequence of reactions and also write their

Write TUPAC name of the following compound :

CH; CH,
| |
CHy;—CHy— CH — C =CH,.

What are enantiomers ? Give one example.

frfafea @i @1 smegdiod. Tm fafeag -

CH; CH,
| |
CHy;—CHy— CH — C =CH,.

T Y &1 € 7 U QaTEIu W]

structures :

What are synthetic detergents ? Give an example. Mark the lyophilic and hydrophilic

Sn/HCI NaNOy +HCI

273 — 278K

A B

I few g il 9 H A 8RB &I TgAM difY 3R I9@ @Xan o i

Sn/HCI 4 NaNOy +HCI
273 — 278K

part on it.

W UM T € 7 Uk SEEdvl ANY| 39 UX GEREN e8RS rl

OFT @l sifehd BT
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19

20

21

PVC is made from vinyl chloride by a polymerisation reaction :

(a) Write the structure of the monomer of PVC. Identify the (i) type of
polymerisation and (i) structural feature needed in the monomer.

(b) Draw the structure of repeating unit of PVC.

Tgaw ULIALEl. [qEA FRES ¥ SgAeT SWikdl & SIEl Sl 2|

@) WALH. & Thaw @ G faagl () NALE. W % fqe agasd @
YR oY (i) 39% Ukhad H SURYT SEsdh GXATITd @9 6l Ued™
HINTY |

(@) dAE. B gIEgd 3HE B e W)

(a) What is meant by molality of a solution ?

(b) A solution contains 18.0 g of water and 92.0 g ethyl alcohol (molar mass
= 46 g mol~!). Determine the mole fraction of each component in the solution.

(@) Tl faeaw @ dieear § w1 aed & 7

@) us famma ® 18.0 g T &R 920 g TN Twbled (Ao TeOdN =
46 g mol™!) ¥ fq@aT & Ud® "&b & AW — AN @ BT

(a) State the relationship between AH and AU of the reactions involving

gaseous substances.

(b) Use thermochemical equations given below to determine the enthalpy of
formation of Csz(g) at 298 K :

5 3 ~
CoHy(g)+5Oag) = 2 COy gy + H2Oy)s A Hy = 1299 kT mol !
C(graphile) + 02<g> — C02<g> ; Ang — 3903 kJmol_l

1 o -1
Hz(g> 4 B 02<g> — H20(1> ; ALH3 = —285.5 kJ mol

4
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@) TET yget ¥ dew ofufeamet & o AF @R AU % 919 €99 IaEU)

(@) %ﬁﬁ@mﬁmaﬁwﬁwwmczm@a&ﬁwwﬁﬁ
298 K WX 3 ahisTd |

5 ) )
CoHy ) +§02(g) — 2C0yy) + HyOy; A Hy =—1299 kJ mol 1
C(rz) + Oy gy — COyg) s Ay Hy = =393 kJ mol™!

1 o -1
Hz(g> 4 B 02<g> — H20(1> ; ALH3 = —285.5 kJ mol

22 (a) Define molar conductivity. Why does conductivity of an electrolyte solution 4

decrease with decrease in concentration ?

(b) A solution of CuSO, was electrolysed for 10 minutes with a current of
1.5 ampere. What is the mass of copper deposited at the cathode ?
[At. mass of Cu = 63 u; 1 F = 96500 C]

(@) WX Ar@whal & gTd Hig ) foEd stueed @l aidedr QiR & "e &
g F wH BN W ' O?

(@) CuSO, & famas & 1.5 Thwex & grq & 10 fFe 9% faga emafeq
frar T ke w AR s &1 gEEw w®n s ?
[Cu @1 U] &9 M = 63 u; 1F = 96500 C]

23 Compound 'A' is a thick colourless oily liquid and is known as 'king of 4
chemicals'. It dissolves in water liberating large amount of heat. Identify 'A' and
write its structure. Give its two important chemical properties and write chemical

equations involved.

AiRTs ‘A TE el TR d6d 59 ¢ 3% Saal TH™H & T 6 9™ & A1 Sl
T TE UM H TgA A% HT T Hh gl ¢ | AT 'A' Bl T8N DI 3T 3Hah!
oo fafan) sa% < TReaye TEEE TUiEH SaEy oY @98 TEEtTe aHe ol
ijieiy

313/52/ASS/4_A | 10 {HMEAAUNTA AW 1 Contd...



24 (a) Show by proper chemical reactions how hydrogen peroxide can function 4

both as an oxidising agent and a reducing agent.

(b) Complete the following chemical equations :

(i) 201~ +4H 4 MnO, —

(i) 2 XeF, +2H,0 —

(%) Staa wEEE Aukemel ¥ 9MET fF TESM uReiledEe &Y Ml d¥E
SFATUT TE TqogT oIMMeRal & &7 ¥ & &l 8|

(@) Frafafed wamfe @iwet & b #@itg

() 2CI~ +4H" + MnO, —

(i) 2 XeF, +2H,0 —

25 Giving chemical equations, briefly describe the following reactions : 4

(1) Hell - Volhard Zelinsky reaction

(i) Wolff - Kishner reduction.

TEENE FHEO T g eEfaiad stwlearet @ "eaw § vl g

(i) TA-AAR SR STThaT

(i) gew FHymT S|
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26

27

Name the reaction given below and write the structures of A, B and C. Also write

the name of the compound C :

OH
@ NaOH > A CO, S B H,O S C
Pressure
(4-7 atm)
398 K

What will happen when the last product (C) is treated with ethanoic acid ? Write

chemical equation involved.

e & e erfyfpar @1 W 9qET U A, B 3 C @ @3eed faiau) @t C @t
M ot fofae ¢

OH
@ NaOH €O, . HO .
GE]
(4-7 atm)
398 K

FT B 99 Sff~aq Sag (C) @l UIHiEHh oTd & 91y SUAld fhar S ?
95 e TR gy |

What is meant by hybridisation ? What are different types of hybridisation ?
What is the bond angle between the hybridised orbitals in each case ?

Explain sigma - and pi-bonds.

HT ¥ &1 a7 A 9eR % Gl % A 9diEUl Tdw Uedo o
ol Hehiid wethl & ST STEE WU fehaw gar & 7 Ry - ofR uiE-erde
HI AT BN

4
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28 (a) For a chemical reaction R — P, the variation in concentration logjo [R]
vs. time plot is given as

N

&
ED Slope
() 5
Time (s) —>
()

for this reaction :

(1) What is the order of reaction ?

(i) What is the slope of the curve ?

(iii) What is the unit of rate constant, 'R' ?
(iv) What will be half-life period ?

(b) Combustion of coal is exothermic reaction. Why does not coal burn by itself
when kept in air for any period of time, but once initiated by flame, it continues
to burn. Explain why ?

(@) TH TEEtE Afaea R — p % fQ @99 & | @i logyg [R] H afEad
H @ T WeR @ T ¥

N

3

s S1

ol B Y ANIR
Time (s) —>
(&)

39 offfhar & fow -

() oIfwfRaT ®ife w®M T 7
(i) a% @1 B T@ R OEM P
(i) =X Reriem, R, & IHBE w1 T 2
(iv) Y- & w1 7

(@) ®Ed & A H BT Th SOl AR 1 A H BE@l oUW ST R
T <& B AR TRAT o oralue % WU 9@ ag § W@ S ¥, @ied
Th R SO ¥ @ YT 6 & 999Td 98 @R Sfadl &dl § | e

HifsTg, @ ?
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29 (a) Why do transition elements show variable oxidation states ? In 3d series 6
(Sc to Zn), which element shows the maximum number of oxidation states
and why ?

(b) Calculate in B.M., magnetic moment of Ni2+(aq) ion.

[Atomic number of Ni = 28].

(c) What is lanthanoid contraction and what are its consequences ?

(%) THHEY T F TNl SUTEN STERmel i Waidta wid & ¢ 3d gof
(Sc ¥ Zn) ¥ &N 9 da gaitus IUTI e g9iar ¥ ool Ry ?

@) Ni*T(aq) @ @ gEEE emel @ BM. # ufeeT #ivTg)
[Ni @& 9em] d@emn = 28]

(M WIS dgaT ;T ¥ SR Uk o YW wd ¥ 7

30 Name the reagent that is prepared by reacting a haloalkane with magnesium 6
in the presence of dry ether. In an experiment, this reagent was prepared using
bromoethane and then reacted with water, as a result what product would have
been formed ? Write chemical equations for the reactions involved. Name four
different types of compounds that can be prepared with the help of this reagent.

SH HAWHRE B TH TAEY STH b 39 &I SuRATT H fhel FAges &l Aiamm
% W AR Hh TAET TGN Z| TH UAM H A SAUBRE Bl SHCAT B
TART Y% ST AT SR B UMl & 91y SATHReT #0813 | Bd @EY T SR
A1 B 7 HEE e ST faRaT | 39 Site e dl EREl § 9 ST
e 9r fafy= Al & @ faRae)
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Old Syllabus / JUAT 9T&rRA

Time : 3 Hours] [Maximum Marks : 80
T 3 A% [ri® : 80
Note : (i) This Question Paper consists of two Sections, viz., 'A' and 'B'.

(i) All questions from Section 'A' are to be attempted.

(ii1) Section 'B' has two options. Candidates are required to attempt questions from

one option only.

fRar: () WU T A A @GS T - @ W qA g AN
(i) @ ‘or & AWM U B TA HCNW T |
(i) @os ‘@ H @A fywew T | whaA H bad Uk [GHed F o YA F
ERLCE B
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SECTION - A

g — H

1 Give name and symbol for the SI unit of 'luminous intensity' 1

‘WEIT el % SI ABIh @ AW SiX Hohd T

2 What is an aerosol ? 1
T R g 7
3 What is mole fraction ? 1

oe-oigT & & 7

4 In the reaction : 2
Zn(s) + 2HCl(aq) — ZnCl,(aq) + H,(g)

what mass of HCI is required to react completely with 4.25 mole of zinc ?
How much volume of hydrogen gas at STP would be produced in the reaction ?

IR IER I
Zn(s) + 2HCl(aq) — ZnCl,(aq) + H,(g)

# 425 A Bw ¥ qofaen swaif@ &9 & fTg HCl &1 e seme sasds
¢ 7 39 ol § FESW MW @ fRa emEew STP WX S@= ' 7

5 Identify the conjugate acid - base pairs in the following : 2
(' HF(aq) + HCO3 (aq) == H,CO3 (aq) + F~ (aq)

(I) HCO3 (ag) + OH (aq) —— CO3* (aq) +H,0 (I)
frefoiad § @™ ot @R & RN W TEAH WY

() HF(aq) + HCO3 (aq) == H,CO3 (aq) +F (aq)

(I) HCO3 (ag) + OH (aq) —— CO3* (aq) +H,0 (I)
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6 Differentiate between mineral and ore. 2

el iR oes § oY g

7  Name the series of lines observed in the emission spectrum of hydrogen in 2
which the minimum value of n, is 2. Calculate the wave number of the third
line of this series. (Given : Ry = 109677 cm™!)

TESNM & I@SH WagH @ I WA Bl GO w1 AW Ay e g
AT n, = 2 %1 3@ 990 H AU AR B qOT GEAT ARG DT
(fmm & @ Ry = 109677 cm))

8 A compound is made of three elements A, B and C with the formula AXBYC. 2
While the atoms of C make the cubic close packed (ccp) lattice, atoms of A
occupy all the tetrahedral voids and the atoms of B occupy all the octahedral
voids. Find out the values of x and vy.

T% difie @ q@i A, B ok C ¥ 9 ¥ &R 3@hl gF ABC ¥ w&iE C
% TN TN GEHED (ccp) SWH S &, A & I T aghadd A
# HeE ¢ iR B % U] 9 oTR%@ad [ W HiE ¥ x o y & AW
EIEEAIS e

9 The carbon atoms in the compound shown below have been numbered wrongly 2
for its nomenclature. Identify the rule that has been violated and write the correct

numbering.

4 3 2 1
CH3— CH - CHz—CH3
|
CHj3

A9 et T AR @ TMUEld % fMe eEE et w1 Tad et
fpar T ¥ S W @ wewH #itve fEer Swem fhar T ¥ e @@
&Y farfgy -

4 3 2 1

CH;— CH — CH,—CH;

|
CHj3
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10 Define the terms 'relative molecular mass' and 'molar mass'. Calculate the 4
relative molecular mass and molar mass of CH,.

e aivae FEEN iR CHIAR FEEE UGS @ Gt HiSgl CH, &1 |ue
afves gem™ &R HieX S aReivd Bl

11  Differentiate between spontaneous and non-spontaneous processes with the help 4
of one example each.

THh-TH IQELT B GEEdl § W yad whd iR X - WA wakid weH #
RGN e

12 What are (i) Molecular Rearrangement and (ii) Elimination Reaction? 4
Explain with the help of an example each.

(i) offvae®s YA  (Molecular Rearrangement) iR (i) fa@iam  stfyferamd
(Elimination Reaction) I & ? W% & Uth Ueh IETELTT hl TERIT § TG it |

13  State Maxwell-Boltzmann Distribution Law. Graphically show the distribution of 4
velocities of gas molecules at three different temperatures, From the graph
conclude what happens to the most probable velocity on increasing the temperature.

Foed — SieeomH faawer e saey) 79 fafr= Jommt )T 6 oepet %
A7 faavor & e g E9TEU) o € ey ety f6 9T s 1 w@aiius
g g &1 R war ¥ 7

14  Calculate the standard entropy change for the reaction : 4
2H,(g) + Oy(g) — 2H,0()
at 300 K if the standard molar entropies of H,(g), O,(g) and H,O(l) are 126.6,
201.2 and 68.0 J K1 mol! respectively.
300 K °X sifufpa
2H,(g) + Oy(g) — 2H,0()

@ AME Tl uiEadd aiiaa aigl afe Hy(g), O,(g) X H,O() @
qMeh A OO0 ®A9t 126.6, 2012 38X 68.0 J K-! mol-! ¥)
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15 What 1s a ligand ? How are ligands classified on the basis of the number 4
of donor atoms present in them ? Give one example of each of the three
categories.

g (ffs) @m & 7 SuRem Tm@r T @ €@ % ER UX ganadl el |
UHR pd [hdT T E 7 A I H W TS B Uh U SaYUl ald |

16 The valence shell electronic configurations of two elements are (i) Element 4
A : 3s? 3p° and (ii) Element B : 5s. Find out their atomic numbers. In which
group and period of the modern periodic table are these elements present. Justify
your answer.

A q@ B GASTHRAT BT Fwaivd =@ () I A 3s? 3p° iR (i) I
B : 55 %I Y@ UTA] WEAT TG HINC| TE q@ SYHTH oTad @RON kR
i8R amEd o SUREd ¥ 7 oUW SoX @l Qi wifeg

17 The compound X is a strong acid and a good oxidizing agent. Aluminium 4
becomes passive after being dipped in it due to the formation of a thin protective
layer of its oxide. Identify X and write its formula and structure. Write chemical
equations for the reaction of its dilute solution with Cu and Zn.

difte X o USd ofd S TSl STeRea o | Uegtad sed fdea & e
T R OB Tdg T Ak O3S S Udal YecTd URd &9 Sl s X @l
TEAN BT iR FEET g qU1 weaT faiau) 3@ 99 fa@as @ Cu @i Zn
¥ afvfer & fog wwmate e fafaw)

18 How are sigma and pi bonds formed ? What is hybridisation ? Give the names 6
of different types of hybridisations involving s and p orbitals. What is the bond
angle between the resulting hybridised orbitals in each case ?

e ofiR Ut otdy hY a0 ¥ P GHw R E 7 s oiX p wuadl ¥ dag futv=
YhX oh GhHIU & A9 SN T Tho H TROTHl Thild ®Hefhl & S ey
H feha a1 & 7
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19 Identify A, B, C and D in the following reactions and write their [UPAC names : 6

H
|

() CH;CH,MgBr + A — H-C-OH
|
CH,CHj3

H
|
ii) CH;CH,MgBr + B — CH;-C -OH
(i) 3CH, 3 |
CH,CHj3

CHj

|
iii) CH3CH,MgBr + C — CH;-C -OH
(ii1) 3CH, 3 |

CH,CHj3
O
. | NaOH
(v) CHy=C+ HiC CHO — B0

H

frrefeiaa sffeanst § A, B, C iR D & wgaM %y i 396 o18.q.9.0.dn
W fofaw

H
|

() CH;CH,MgBr + A — H-C-OH
|
CH,CHj3

H
|
ii) CH;CH,MgBr + B — CH;-C -OH
(i) 3CH, 3 |
CH,CHj3

CHj

|
iii) CH3CH,MgBr + C — CH;-C -OH
(ii1) 3CH, 3 |

CH,CHj3
0]
l
. NaOH
(iv) CH3—$ + H;C CHO 50, 278 K

H
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20 What is electrochemical series? The following is the arrangement of some
metals and hydrogen in the increasing order of their oxidising power.
J<K<L<H, <X<Y<Z

All the metals form bivalent cations i.e. J2t, K2* etc.

(1) Identify the metal electrodes with the highest and the lowest electrode

potentials.
(i) Identify the metals that can liberate hydrogen from acids.
(i11) Identify the metal whose cation cannot be displaced by any of the given metals.

(iv) Cations of which of the following metals cannot be displaced by the
metal L ?
Z, K X J

(v) Write the redox reaction between metal/ metal cation of L and Y.

faga—amat 9ol =1 2 7 3B oigell oiX s @ ITal SeeRe  gaedl
% Tod H Bl Faen FrEfaEd ¥ o
J<K<L<H,<X<Y<Z

oyl gigd TEEEee T S )2, KT e S ¥
() Toaaw iR AW s fawa A g saegisl @ TEE eI
(i) ST wigslf @l UgAT S oA W W TEINM A BT Gahdl ol

(iii) 3@ o1y ® gy fas gaEa & & g3 fedl o ug 9 fawenfm @
fhar < gmani

(iv) ®F-| = aigent & g @ arg L g faeenfyd w0 fen s oaear ¢
Z,K X, J

(v) ®1g / o1 & L oiR Y & 99 Efe sl fafeg)
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SECTION - B

e — 9
OPTION - 1
fam - 1

(Environmental Chemistry)

(rataeim aEA)

21 Name the air pollutants released by burning of fuels and hydrocarbons. 1

36 oY TES@EAl & Sad WX Medd dW a9y UEWal % AW SaEd|

22 Soot and fly- ash are which type of air pollutants ? Give any two effects of 2
the presence of excess sodium chloride in air.

FivE X w091 fhH U & a1g Ugu ¢ ¢ Aig | oifue wifsad dRigs
@ SURANT % HIg & THE Id154 |

23 In this step of water treatment a group 17 gas is used for making the water fit 2
for drinking purpose. Name this step of water treatment and the gas that is used
here. What other methods (any two) can be used for the same purpose ?

W@ @ U A g9 % [0 @ STeR 6 39 9 H @ 17 @ U% T e
A T I SUAR b IH AT H SR UGS N B AW IARYI 3H e b g
wF-d o faftml (@ @) wEr @ S ged €7
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24 Name the process by which a water body slowly becomes rich in plant nutrients 4
such as nitrates and phosphates. Give its two causes ? What is its effect on the

water body ?

TG UehH H1 W 95U NTE% HRUT STAe™ g4 ey Wuel 9" AEddd R
BB § T B WA £ 39% & RO AANY| SEh™ U SORT . YA uSdl
T 7

25 Cadmium is a highly toxic metal. How does it occur in nature? Give various 6
sources from which it enters into humans? Give any four of its toxic effects.

HSATH o SMIuTg oTg ¢ 9% UHhfa § o yeR o S ¢ ¢ 99 fafy=
gl H AT E a8 AME X H U9 FE S 369G By 9 SAGug THE
CUE Y

OPTION - 11

ICET I ||

(Chemistry and Industry)
(vaEa AR wEm)

21 What is the common feature of soaps and detergents ? 1

A X Uil B M @& Fl s 7

22 The items made of PVC are made by moulding. These items soften on 2
heating and become rigid again on cooling. Explain.

WALHL (PVC) & T axgsll & Fars &0 S0 Sl 81 98 a8 TH B
9T T B Sl ¥ SR 31 # WX @ B WMl B | ARAT it
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o

23 This red pigment is bright red powder with high specific gravity and has
excellent covering power. Name this pigment and give its one property one
application.

% W@ Uit Sod AUIEe T ok IoH Bad ®l qfed aTe SEdER @i 1T
1 UISSY ¢| 3@ A% & I AT X SHE UH U SR Uh AUAN S|

KRR R R R
Y Y Y ¢ Ys%¢)

24 What are clays ? Give names and chemical formulae of three common varieties 4
of clay.

o (faet firedl) = & 7 gfaer & 99 9mM w9 & AW iR vEmEiE
T )

25 What is the difference between an antiseptic and a disinfectant ? 6
Give two examples of each. Is phenol an antiseptic or a disinfectant ?

Tioredl SR IS W FT X § ¢ Y% % A&l SATeXUl ATl T WM
giordl ¥ ereEn O ?
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